



































































































































Discrete Probability

the samplespace spae of states of the experiment is the set of all

Ex H T Sample space 34,7 S
E H event

ITS
Def If S is a finite nonempty sample space at equals likely
outcomes and E is an event which is a subsetof S then the

probability of E is
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Ex 2 dice EFI what's the probability that the sum of

numbers is equal to 7
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Binomial distribution
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Probabilityard continuous probability
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